1 I F 4
2 AML#EAA
3 AfLoFik

4 BIL¥EE 4

AALERAE (W)
¥ W R
BN SRR R OVREE MG 91 IR
filiBh ¢ FE18 IR LD
o 44 3A 40 13:000°5
e e AL (BT AML)

PR BN T = B T K 194635 b
S TR (CEIEEE TR 8

5 ALY E W 12,724,000 [} (BtiA) 38,840,000 [ (Bt

6 T JE i & 42,812,000 [9 (BiiA) 38,920, 000 [ (Bifk)

7 SRARHI BRATAS 36, 390, 000 [ (BtiA) 33,081,819 [ (Bith)

8 % # = 99.79 % WO [

A O E OH A %1 0E] % 2 [0 % 3[E AL

| [PRERLIR TR 38, 900, 000 99. 95 %
g [HRAR LRI 38, 900, 000 99. 95 %
3 ELE S 38, 920, 000 100. 00 %
g [FAIREEBR At 38, 900, 000 99. 95 %
5 [PRARL AR 38, 840, 000 AL 99. 79 %
g [=7F - ELE 38, 920, 000 100. 00 %
g (AR B TR 38, 900, 000 99. 95 %
g [FRAREE  AfR 38, 920, 000 100, 00 %
o [ARARILBOLIEIL 38, 900, 000 99. 95 %
10
11
12
13
14
15

4658 - 1




B 3R R R OB ERG

i) SEEFE IR TH@

1 L # 4
2 AIEAA
3 AfLoFik
4 HBILEHA

5 Lk E

0 445 3H 48
RAHSAL (BEFARL)

P8 /N T B NI A )11 543 ‘
by g ) A r )

35, 794, 000 [ (FiiA)

TR ol

AALis R (B R H)

%

o

13:06702 6

LI

KEEIREHE

St

R

32, 540, 000 [ (B4R

6 F E i 35,871,000 1 (#iiA) 32,610,000 M (Bik)

7 Rl RR TS 30, 490, 000 [ (FiA) 27,718, 182 [ (#ik)

8 W ML = 99. 79 % WO

AL ¥ BB A 5 1] 55 2 [m] % 3 A AFLE

1 PR AR 32, 540, 000 #1L 99, 79 %
g [PRARHLARTERRR 32, 600, 000 99.97 %
3 G i R PR A= 32, 610, 000 100. 00 %
4E$E%%i§ﬁ 32, 600, 000 99. 97 %
5 [PRARHTHRER 32, 580, 000 99,91 %
g [WETF - B F 32, 610, 000 100. 00 %
7 [PV & TH IR 32, 590, 000 99.94 %
8 PRttt AfRi 32, 610, 000 100. 00 %
o [RARHBTHIE 32, 600, 000 99.97 %
10
11
12
13
14
15

4662 - 1




AFLAE R E (B )

13:16H: 6

1 I F 4 DN JAEEE
B EERTHES

2 AHHEHHA 5 44 38 4\

3 AfLoxik  BaESAL (BFALL)

4 HILEFALA Y8 B NI T AT AR e TT-1
L Ve Wk (e S

5 %ILRE %

(R I

29, 150, 000 1 (£#3A)

Jre b B O fee 3 F i R 9 18 IR g 3

w5

%H%

MU

26, 500, 000 [ (k)

6 T E M & 29,293,000 M (fiiA) 26,630, 000 4 (#i4k)

7 SRR 24,899,000 [ (BiiA) 22, 635, 455 [ (Bitk)

8 % M = 99.51 % W s

AW ¥ #H 4 # 1 [a) & 2m & 3 [a] AL

| [Pk oo n %
g [PRAEHIBA R 26, 600, 000 99.89 %
g [HRARALERA 2 26, 500, 000 WAL 99. 51 %
| [ I %
. K Rk U 26, 630, 000 160, 00 %
6 =7 K 51 %
. et AfRESER R %
. L V= e U R %
9
10
11
12
13
14
15

4665 - 1




